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2. Let 6 be an angle in standard position, name the
quadrant in which 6 lies. When cos6<0 and cot 6>0.
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3-7. Given tanéd = —5 , and 90°<98<180°. Find the exact

8-9. Find a reference angle for cot(-210°), and then
evaluate using the reference angle. A T
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(227 #1-11 are samples of what is on the no calculator portion
10-11. Find a reference angle for sin| —— |, and then .
3 . of this test
evaluate using the reference angle. ‘(“*/é L= ;}’
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#12-21 are samples of what is on the calculator allowed
portion of the test.

12-13. Atower that is 124 feet tall casts a shadow 172
feet long. Find the angle of elevation of the sun to the

“ngbpest degree.
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14-15. At a certain time of day, the angle of elevation of
the sun is 40°. To the nearest foot, find the height of a tree
whose shadow is 35 feet long.
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16-17. A hot air balloon is rising vertically. From a point
on level ground 125 feet from the point directly under the
passenger compartment, the angle of elevation to the
balloon changes from 19.2° to 31.7°. How far, to the
nearest tenth of a foot, doessthe balloon rise during this
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18-19. You leave your house and run 2 miles due west
followg_gmy 1.5 miles due no;;»th At that time what is your

\ bearing from your houses
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20-21. Ajetleaves a runway whose bearing is N35E from
the control tower. After flying 5 miles, the jet turns 90 and
flies on a bearing of S55°E for 7 miles. At that time, what is
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the begﬂrlg of the jet from the control | tower?

(B




